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Reg. No.

| Semester B.C.A.2 Examination, November/December 2017
(Repeater)
MATHEMATICS - |

Time : 3 Hours Max. Marks : 80

Instruction : All Parts are compulsory.

PART —1
Answer any ten questions. (10x2=20)
1. Define Arithmetic mean.
2. Ifn=10andr =4, find "C,.
3. Find the sum and product of roots of a, equation 4x2 + 9x -3 =0.
4. Prove that sin6.cosec6 = 1.

5. Prove that sin 60°- sin 30° + cos 60°- cos 30° = sin 60°.
6. Solve IM (2x2 1 8x — 2).
-0

3

X
7. Evaluate Im ———.
x>3 X 42

. . d/ «
8. Differentiate &(xe )

9. Differentiate x" w.r.t. x from first principle.
10. Find the distance between the points A(a, —4a) and B(3a, — a).
11. Find the equation of straight line given its intercept on axis (-4, 5).

12. Show that 2x — 4y + 5 =0 and 6y = 8x — 3 are parallel.

P.T.O.



22122/A 220 2- 0O 0 O R

PART -l
Answer any six questions : (6x5=30)
.. 8 1 -
13. The sum of n terms of progression is 5(1 —Ej show thatitis a G.P.
14. Resol L't tial fracti
. Resolve I dx 1 82 into partial fractions.
n(n+1)(2n+7) _ _
15. Prove1.3+2.4+35+...+n= 6 by Mathematical Induction.
sinA +sin3A +sin5A +sin7A
16. Prove that = tan4A.

cos A +cos3A +cos5A +cos7A

17. Differentiate sin3cos?x w.r.t. x.

18. Differentiate cosax w.r.t. x from first principle.

b+c
19. If cot(%) =T then show that the triangle ABC is right angled.

20. Find the equation of straight line making intercept x and y axis as a and b.

PART -l

Answer any three full questions. (3x10=30)

10
4
21. a) Find 6" term in expansion {3X3 —;} .

b) Find the number of permutations of the word “KARNATAK” also when 2K’s
are together. (5+5)

22. a) In any triangle ABC prove that a(b-cos ¢ = ¢-cosB) = b®>—c2.

b) The horizontal distance between two towers is 50 meters and the angle of
depression of the top of the first tower as seen from the top of the second
tower which is 150 meters high is 30°. Find the height of the first tower. (5+5)
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-2, x<0
23. a) Define f(x) =<0, x=0 show that )'('LT}) f(x) does not exist.
2, x>0
b) Solve the triangle ABC in whicha= /4 ,b=2andc= 5 —1. (5+5)

24. a) Differentiate x-e*-cosx w.r.t. x.

2

x“logx

b) Differentiate w.r.t. x. (5+5)

25. a) Find the co-ordinates of the points of trisection of the line joining the points
(5,—6) and (— 3, 4).

b) Find the tangent of the angle between the linesx + 4y —1=0,4x+y + 8 =0.
(5+5)




